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Encrypted	
  Message:    f    sPlDgzgD,    qgTB    TlD   qgTzx,    ANgz	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
Inverse	
  Function:	
  
	
  
	
  
Decrypted	
  Message:	
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x
+
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Encrypted	
  Message:    pcdBFB,    uc    Ru    RjdAS.    UjB    ocdANB    jZH 
 
 
 
 
 
 
 
 
 
 
 
 
Inverse	
  Function:	
  
 
	
  
Decrypted	
  Message:	
  
	
  



3B	
   3( ) 6 5f x x= − 	
  
Encrypted	
  Message:    sWh    W    RNUFZ,    wH    vNUh    gUHtZDC	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
Inverse	
  Function:	
  
	
  
	
  
Decrypted	
  Message:	
  
	
  
	
  
	
  
4B	
   3( ) 2 1f x x= + 	
  
Encrypted	
  Message:   SoDrr,    eOih    b    FMIqDi-    vqbv    Mr    vO 
  
 
 
 
 
 
 
 
 
 
 
 
 
Inverse	
  Function:	
  
	
  
	
  
Decrypted	
  Message:	
  
	
  


